


M@GECE9-12.F.[LE.13 Prove that lihear fuhctions
grow by equal differences over eqgual intervals
and that exponhential funhctions grow by equal

fFactors over equal intervals.

MGSE9-12.F.LLE.1b RecCcoghize situatiohs in
whiCh ohe quahtity Chahges at @ Cohstant rate

Qﬁit interval relative to ahother. /




coefficient - @ humber multiplied by a variable
(so in this case, the slope!)

constant - 3 Value that does not change

initial value - the y-intercept of a graph
(makes sense because this is where
you start when graphing a line using
the slope-intercept form)




@mﬂ: the equation of the line
(written ih slope-intercept form)

that represents the data




Rate of Change: the ratio of the Change in
the output value ahd the input value of a

function. ( Slope. )

Change in Dependent _ Qutput _

Change in Independent Input

N

' \_ﬂf (same as s|ope!)

When the rate of change is linear we Ccall it a
constant rate of change.




Comparing rates of change:

When we compare rates of Change we are
comparing the slopes.

e The Jowest rate of change has the
smallest absolute value.

e The greatest rate of Change has the
largest absolute value.




Clopes: positive, negative, zero and undefined

inCreasing change: when the slope is positive

decreasing change: when the slope is hegative




What is the initial value of each function?

1-y=§x+2 @ 2
o
bt (2




1s the rate of change inCreasing or decreasing?
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Rate of Change:
a8 y=x+2 b. y=-3x-2 C. y=—%x+3 d.y=2x+8

17. Which equation above has the greatest rate of Change? b

18. What is the rate of that equation? -3 _ 2

19. Is this an inCreasing or decreasing rate? .,




21. What is the rate of that table? _ |

¥
22. Is this an increasing or decreasing rate?







